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MATH 1470 Fall 2004 Tintera
PRACTICE TEST 1: Linear Models. Covers Chapters 0-1

Remember this is just a drill. You will get a ‘check’ for attempting it. Give it your best try. Good luck!

1. The following table gives the number of veterans from World War II who are in civil service.'

JAN S N A
Year |# Ve%rans bi\ %t
1991 | 8841 Medun 5lope =3 47350
1992 |8499 \ 3w =
1993 | 8150 i ~ 349 - 34 Qe by vetoose % 3N
1994 17795 \ -355 -3¢
1995 17433 [ 36 361

a) (10 points) Is a linear model reasonable for this data? Why or why not?
b) (10 points) Regardless of your answer to (a), write down a linear model for this data based on
your calculations. Be sure to tell me what your variables mean.
¢) (5 points) According to your model, what is the meaning of the slope. (The answer will be
negative!)
d) (5 points). Use your model to predict the {%terans from WW II in civil service in 1996.
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! Data from http://www.va.gov/vetstats/tab3.xls, accessed 28 September, 2003
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2. For the graphs below, a) identify an appropriate linear model. (Hint: sketch a single line following the
trend of the data.)
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Linear Model formula (with description of variables):
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b) Is the linear model appropriate for this data set? Be sure to justify your answer.
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¢) Regardless of your answer to (b), use the model to predict the starting salary for biostatisticians in
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3. (5 points each for model identification and justification, 4 points each for model.) Identify each of the
verbal situations as appropriate for linear models or not. Be sure to justify your choice of model. Write
down models where linear or exponential models are appropriate. Be sure to define what your variable
stands for.

a) A farmer expects his pigs to grow at a rate of 10 Ibs per month from the 50 1bs he bought them at..

Model (linear or not linear): )&« N

Justification: Covnt o C0 G A cf ‘NC. b e
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b) The number of people employed in the country fell, but has recently begun rising.
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Model (linear or néiinear): At
Justification: e -1
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Formula, if appropriate:

¢) The number of commercial shrimping licenses has decreased by 23 per year from a high of 1238 in
1998.

Model (linear or not linear): (ovie o

Justification: e
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Formula, if appropriate: ' I
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